o
[N

<3 @> (rad)
<)
o [
)

[y

1

2 3
TPlpoT (PCA t%obeamlinélf)

10

Ratl

—0v2

=8
N

.............................

T
+
L
I

1

—=— DQM_original_step2__pt1to1000_eta2p0to2p5

—e— DQM_mkFit_step2__pt1to1000_eta2p0Oto2p5

—— DQM_pixelCPETemplate_step2_ pt1to1000_eta2pOto2p5

<0 0y, > (M)
o
F7F

|

N

o
I

|

o

o
I

[y
TTTT] T
H

<op/p.> (%)
O = N W N O

.......

.......

.......

|
D
T T TTTT]

o

©
o o
TTTT T

+

b

[y
o
I8

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

— 100

0. :
1071 1

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


